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SECTION A: ENGLISH LANGUAGE

(b) disappointing

(d) it would make her anxious about her submission

(©) (2), (4). 3), (1)

(b) the cumulative effect produced when one event sets off a chain of similar or other

events.

(a) she had to do work after classes and thus, could not spare any time.

(c) she had very little time to spare

(b) to work on each part separately and improve it

(b) Linguistics is a dynamic field that continuously develops and changes.

(c) Linguistics has a declining influence on our understanding of the world and

technological advancements.

10. (d) To imply that linguistics is like a woven fabric of interconnected elements.

11. (c) To describe the harmonious collaboration between linguistics and computer
science, resulting in transformative technologies.

12. (b) As humans and machines work together, benefiting from each other's capabilities.

13. (c) Collaboration between linguistics and psychology, neuroscience, and anthropology
to understand the interplay between language and human cognition.

14. (b) Reflective

15. (a) Cause: Pursuit of awards and certificates, Effect: Increased self-worth

16. (b) To emphasise the continuous and persistent nature of the pursuit.

17. (a) Individuals who possess humerous awards tend to have high self-esteem.

18. (a) "Awards and certificates are the sole determinants of self-worth."

19. (c) Integral

20. (c) The author would insist on increasing the number of awards available in academia.

21. (d) "These recognitions had been elusive until recently, but now they have become
more attainable."

22. (c) Proof of

23. (a) To emphasise that individuals possess numerous facets that contribute to their
complexity.

24. (c) changing concept of cohabiting in the modern world.

25. (c) they are constantly preoccupied with their own affairs.

26. (a) disparaging

27. (b) Crucial learning experiences and much needed support systems at home clash with
the values of the community.

28. (d) Statement 1 is false but statement 2 is true.

29. (d) Decreased academic success and retention rates.

30. (c) Through insufficient awareness and support for student mental health.

31. (b) A potential decline in workforce productivity and innovation due to mental health
issues

32. (c) Culturally relevant learning experiences can improve academic success

33. (c) It helps students feel like they belong to both the institution and their culture.

34. (b) medical school's informational brochure

35. (b) To provide a balanced discussion of the advantages and challenges of using VR in
medical education.

36. (b) The intensity and realism of VR training.
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37. (d) 'The medical students, wearing VR headsets, feel as if they are in an operating
room.'

38. (c) VR requires a significant financial investment.

39. (d) A balance between VR training and real-world experience is essential.

40. (a) Present a well-rounded view of the topic.

41. (d) strain

42. (a) Promotes a more profound insight.

43. (c) VR technology is becoming more affordable and accessible.

44. (c) (2) and (3)

45. (b) the dearth of sufficient number of jobs

46. (a) that initiates a sudden and important change.

47. (c) Statement 1 is true but statement 2 is false.

48. (a) reaching the customer's doorstep.

49. (b) The authors suggest several further avenues of research in which their findings
could prove useful.

50. (c) Last-mile delivery, transportation, and local commuting.

SECTION B: CURRENT AFFAIRS & GENERAL KNOWLEDGE

51. (b) Virat Kohli

52. (a) Asteroid Bennu

53. (b) Ganga

54. (a) is to promote economic cooperation, cultural ties, and develop strategic
relationship with countries in the Indo-Pacific region.

55. (b) Literature

56. (c) I, Ill, and IV

57. (a) Spain

58. (a) Balance of payments is the statement of a country's trade with other nations.

59. (a) Microsoft - Activision

60. (c) Polar Satellite Launch Vehicle

61. (a) Minsk Agreements

62. (c) Statue of Unity

63. (a) indigenously developed Automatic Train Protection (ATP) System

64. (d) US, UK, Canada, Australia, New Zealand

65. (d) Making space exploration more equitable

66. (c) Cambodia

67. (a) Principal Scientific Advisor to the Government of India

68. (d) All of the above

69. (b) Alleged war crimes and crimes against humanity committed at Darfur between at
least 2003 to 2008.

70. (b) Il'and IV

71. (b) A global summit addressing climate change and environmental sustainability.

72. (c) Justice M Fathima Beevi

73. (d) Broadly understood as the final value of the goods and services produced within
the geographical boundaries of a country during a specified period of time.

74. (d) Rank countries according to their economic growth and GDP per capita
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75. (a) Present Bias

76. (b) Microsoft

77. (a) percentage of bank's total deposits that is required to be maintained either in cash
or as deposits with the Reserve Bank of India

78. (a) Arundhati Roy - God of Small Things

79. (d) Mahatma Gandhi

80. (d) Ignis - Sun

SECTION C: LOGICAL REASONING

81. (a) Critical thinking skills are currently not emphasized in the education system.

82. (a) VXGEP

83. (a) QCZLND

84. (b) PUVQ

85. (a) OWBO

86. (c) Both (a) and (b)

87. (c) Both (a) and (b)

88. (c) LED bulbs emit less heat than traditional light bulbs.

89. (b) Individuals who exercised for longer durations reported did not report marked
decrease in stress and anxiety.

90. (a) Gun violence in school is primarily committed by individuals with mental health
issues.

91. (d) The principle of strict liability was inadequate to protect citizen's rights in the light
of the rapid industrialisation in the 20th century.

92. (c) The top-scoring student had prior knowledge of the exam questions.

93. (c) Company A's profits were solely influenced by its marketing strategy.

94. (b) Lithium-ion batteries are the only type of batteries used in electric vehicles.

95. (b) The current education system is not equipped to cater to diverse learning needs.

96. (d) Both 11 and I11 follow.

97. (b) No snakes are ducks.

98. (d) None of the above.

99. (d) None of the above.

100. (d) None of the above.

101. (d) None of the above.

102. (c)C,A,B,D,E

103. (d) None of the above.

104. ©) X,Z,Y,V,W

105. (c) X has committed criminal trespass because entering uninvited into a

property at midnight and pointing a gun at a person would atimi te any person of
ordinary sense and temper.

106. (d) All of the above.

107. (d) All of the above.

108. (a) Yes, as Laila is an employee of the supermarket.

109. (c) Yes, because employers are always liable for the torts of their employees.
110. (c) Only 111

111. (b) Only II
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112. (d) None of the four conclusions necessarily follow.

113. (c) Both 'a" and 'b" are correct.

114. (@) No lions are rainbows.

115. (d) Both in Bengaluru and Mumbai provided the dispute arose in Mumbai.

116. (d) Football is a plant. As to whether it is painting, and as to whether it jJumps,
there is not sufficient information.

117. (d) As to whether Mona Lisa is a painting, a plant or a basketball, there is not
sufficient information.

118. (d) As to whether Dragon is a painting or a basketball, there is not sufficient
information.

119. (a) Aloe Verais a plant and it jumps.

120. (c) Both land Il

121. (a) Constitutional Law, Sociology, Administrative Law, Contracts, Political
Science

122. (o)A D, EF,C,B

123. (a) Cities which are self-governing have historically not been able to provide a
good standard of living to its residents.

124. (b) Once the tail of a rat is cut off, the rat cannot survive.

125. (d) Elderly adults must engage with technology as it improves their health.

126. (c) If the elderly talk more often, it is easy to detect if they have depression.

127. (d) By choosing to investigate the matter, the US FTC has expressed its
displeasure at presence of loot boxes in video games.

128. (b) Only 11

129. (c) Only Il and 11

130. (b) When macroeconomic settings turn adverse, future growth gets impacted.

131. (d) Neither (a) nor (b)

132. (b) Criticism of any system shakes people's trust in it.

Ngs (c) Both (a) and (b)

134. (c) Priyanka might be practising yoga.

135. (b) In the event of an accident, people who are not wearing a seatbelt may also
be thrown about and cause harm to other people or property.

136. (b) Men usually play 5-set matches while women play 3-set matches i.e., men
usually play longer matches.

137. (d) Neither (a) nor (b)

138. (c) Both land Il

139. (a) Children who are exposed to racist or sexist language will think that such
language is acceptable.

140. (d) X may or may not be numerically larger group.

141. (d) Y who engages in activities disapproved by Xs can never be trusted in
comparison with other Ys.

142. (c) Criminal punishments impact Xs and Ys in the same manner so long as the
very nature of the punishment is the same

143. (c) Y will commit a crime only if X provokes Y to commit a crime.

144, (c) Both I and 11 follow

145, (@) Only 111

146. (b) it is better to measure effort through time rather than number of steps,
being a more scientific measure

147. (a) Entitlement to dignity and rights flows from the ability to act, for moral

reasons, contrary to pleasure and consonant with pain.
148. (c) Both (a) and (b)
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149. Either
(b) No, because he did not have the intent to defraud.
OR (d) There is insufficient information to decide.
150. No, because momentary distractions don't amount to recklessness.



